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Alwaysinclude UNITS.

Vertical scale isioomv] per division.

Waveform peak-to-peak is. [ div's @ 100mv = 600mv.

Waveform period iS. [9.6div's @ 2ms/ 11 cycles= 1.75 ms.

Waveform frequency is. f= 1T = 1(1.75 ms) = 573 H2.
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Vertical scalefor Chlisp.oov per division.

Vertical scale for Ch2 isfioomv| per division.

Ch1 waveform peak-to-peak is. [about 3.4divs@2V =68V,

Ch2 waveform peak-to-peak is: [about 6.4 div's @ 100 mV = 640 mv/.

Chl leads Ch2 by this amount of time:
labout 1.3 div’s @ 400 ps = 520 ps.




